
������������	
���
	
����������	
���
����������������
�����������������������	�������������������������
������������������	�� �����	���������������������	������ �!��"�#$%	
��&����
����'(()�����	
�*+�,�+- �

�
��������	�
������
	����
	�������������	����������������

�
����������� ��!�"�

#$��%&���� '�$�()�
�

.��/	� ����0� ���"��	� ��
/	
� 1��� 2
��� 1
�%�� �3	�� 4��	� �
��� �$5%0� ���6�� ����	� 7$5��� 7�%	
�
��$�0�0����4��	��
���4����0��/���1����
��	��
��	�$�	
�
3�7
����	���"�4���8�
/��
/0�0����0
	�	
$5���
��$%0����/9�:��	
���%
�	��	���������9�$�	
�"����0�����5���:
/	
�4�����	������	�0����0
	�	
$5�� ��3�
4��"��8��/	�����0����"��	���
/	
�1���0����0����0�����
��	��
��	���	�1
�%���2
���2�;�����6������	�������
8���	�:�	���
�%��4�����3	���
��9���������6	������
���0����2
<��7��	��
�0��2�;��8���0�0
�	����6������	�
	�$�	
���;0����62��
�0�	
$5���4���	�$�	
�2
/��=��	�����
��
�1$��4��	��
���
�$���0��0�7��	��
�0�
0��	
�0
�	
�0$�����	�2
����>�����	�0$����� ���
�	��	��	
����	�0$���8��/	�����0����"��	���
/	
�:���
0�
����2
���	
�
�	��$�1�������/��=�?�
������6�

�9�9���	�4��
�4���0�	
����	�0$���4�/	�����1>0��:$��
7��	��
�0�0��	
�	�$�0��0�4�/	�����9���������6	��
�0�	
$5����4���	�$�	
���;0����62�4��	��
���4���2
/��
=��	�����
��
�1$��4��	��
���
�$���0��0�7��	��
�0 �

.��/	�����0����"��	���
/	
�8�
�	
�0�@��5	������	�1���2
���0
�	
���3	�����"�7$%	
�2���	
��
0
�	�9���	���	��:�	���
�%����A	
�	
��"�0����0
	�	
$5�� ���
	
�=������3	��:�	���
�%���0��0�7��	�
�
�0������$%�23	����%
����0��0�1
�%����3	��8��/	�����0����"��	���
/	
�8���0�	����2
���0��0��9�
	
�
9����4������7�%	
 ���
	
��
���2
<����;0����62�0����2
<�� 1
�%���3	��8��/	� ����0� ���"��	� ��
/	
�
�����0
�� 1���	�=��	���/	�4����1��������"�7$%	
��05�0�/��8��/	�����0��:5��
��2�;����A	
��2���0
�	
�
7�%	
�0����	
��	��A2����9�$�	
�:�	���
�%��8�	����/�������
���4���4��	��
���0����2
<����
�0�	
$5���
8���0�	��� �#
��
���4���0�	
����	�0$���8��/	�����0����"��	���
/	
�:���

�9�9���	�4��
�4���0�
�5���
�������:$%�:��	
���%
�0����0��0� �
�0�	
$5��� ��
	
�	��	�4��	��
���	���	� 1
�%� ��
��
���9�0���	
����
���/"��$5%0�:$%�
��
�1$��4��	��
����=���� ��3	��9����� ����6	�0�����$�	
�
�����
�%	��
�0�	
$5���4���
��;0����62�����	
�������0�����$�	
��
�0�	
$5�� �

�$�� 1�����4�/	�����8��/	� ����0� ���"��	� ��
/	
�����4�����	
��$5%0�	����	$5�0�0����	������
=�
/0�
�����2�1���4�/	�����=��	���
%	
 ����/��1�����
	
���5�����%��	
��"�	�"���
/0��
�����"�7$%	
�
4���9���������6	�	
�	
���
�	�25���0��	
�45���4���0����"�0�/�� ���
�8��"	���$5�	
�����	���%���
���
	
��"�0��	
�	�������7��	�7��	�	
��:�����"����/�	�$�	
�8��/	�����0����"��	���
/	
����"�7$%	
����
�
���"��	���
/	
�7��	��
�0 ���/��8�
�	
�:5�2�	
����	�0$������3�0��B	
���
�1����	$���	�$�	
�1
�%��
�3	��8��/	�����0����"��	���
/	
�	��"�:���8�
��0
�����6� �
�	���%� �C�6����9�$�	
�4�/	�����0�/9����0��
����	��0���	
����0��	�9��������/	����	��	
����	�0$���2
���0��0��	��	��0�
�	
������0
�����6�0$���
45���9���	�	��
�	�$�	
���������	
�2�/��2������	
����"������
�	
���5����32��������	�9���9��$���
������ 	��/�� 	��A2� 	
��	� 0��;	� 8>9� ��5��� =���� ��3	�� ��	
� 1��2� :
��� 2
�	� 7��	� �?	�� ��;0� �����
���"��	���
/	
�8���0�	����0����2
<��7��	��
�0����
	
��
���8��/	�����0����"��	���
/	
�0����	
$5���

�������������������������������������������������
�
�D���	
�4���	�0�?	���
��2
�	�����	�&
%0����$5�	
�C�%��&
%0�.�
��&
%0�!���&
���4�������	����	�,�C�%��&
%0�

E�
/0�D����9 �&
����?�F�	� �



����2�0��	
�1���2
�����
	
�	�$�	
����������2���0���	
��
���0�
�1������6	��3	��	��/����6�1��2�05�
:5��0�
�4���0�	
����	�0$���	��" �

G���2
����
��9���	�0����	��	�4��	��
���7��	� �
�0��8��/	� ����0� ���"��	� ��
/	
�0����	
$5���
����2�0��	
�0
��2
��� 1>0��:$��4��� ���"��	���
/	
�1�����5�� �#
�������=���	���������/�8"���>�0��0�
0�
�0�0���/	����	���0��0�0�
�0����"���������
6��	

���4���8�?������9�����
�%��	��	�	��	�8��/	�����0�
���"��	���
/	
�����2�0
�	�1�%����/��?��
�� �

C�;0���������
	
�=��	�����8�	����/�:��	����/��25���	
��"�	�"���5���:
/	
���	������	�4���
4����0��/��0����	
$5���	
�	
�7��	�����2���	
����"��
6��4���05����	 �H$%�0��"�6	����/	�
�$���0����
0���4���0����25�������1��2����"��
6���$��$5�	
���3	��0��2�4���	�/9�:
/	
�0���0����7��	��
�0�����2 �
#
� �
��� 	��	� 8��/	� ����0� ���"��	� ��
/	
� ����2� ��	
� ��
	
� =���� ��3	�� 9���� ���"� 2
��� 0��0��
2�%	��2���8�
��0
�����6�	
��	�0��;	��$5%0 �

�5���"��	
�I��8�
���
%0�4�����$%0����<	�4$�����3	�����"�5������	��0���	
��
�����	�0�	
�0�/9�
2
���?���$�1�����4���=��	�	���2�0����	
$5�������2���
	
�8��/	�����0����"��	���
/	
�0�����
%�2���
0���	
��
���������������9��$5%0�����	��>�����	�����	�7���7��	��
�0��
%0�������
�	
�

�9�9���	�	��
�
4��
�4���0�	
����	�0$���8��/	�����0����"��	���
/	
�����2�:���	��" �

*�� ��+,�-'�./��0���1/23��4%5+,�4%562!��4�'3�7�,58���79:�/����;(<�

��
	
�8��/	�����0����"��	���
/	
�0����	
$5�������2�0
�����6�9���	����1��2�����1
�%�J�1
�%��
�3	��8��/	�����0���%2���5���4���1
�%���3	��8��/	�����0�0
/��>	� �

!"!"� #$�����%���
��&������	��������'��(�

G
�%���3	��8��/	�����0���%2���5���1���1
�%���3	��8��/	�����0��$5%0����"�7$%	
�8�
�	
�4$�	
�
0��K0�	��A2�2�%0��?0��:$��7�%	
�45�����5���
��	�	
�K	�	�$�0��0�1
�%���3	��8��/	�����0�7��	
���6�
9��%0�4�%�8�	����/��	
���1�<�4  4��

#$%��4��
�0�$�0�	��	
� :$��7�%	
�� 0���	
� ��� 0
�� ���6�9���	� ��� 1��2�0��0� 1
�%���3	��:���
���"J�

#$�����%���)�*���J�7��	
���
	
�0��0�1�<�	
���	�$�0$5�����	�������#�
����	������2��
0��"�������+���� ������+�������� 0��	
������ �,�*�������� �,�*������� �,�*������� �,�*��
���$�����1�<�����	����	��������)���� ������)�����   �

#$�����%���,��J�7��	
���6�1��2�	������/9���
	
����2�1�<�,�*�����$����
�;0�1��2�	����
1�<�9������
	
�1�<���	
�2���1�<�0$5�����	���"�7$%	
�����	��0������%9�7����7��	
�0�
�	�$�	
�	
$5���
��/	�
���9����2�1�<���	�052�4���	
�@�	
5� �C��"�1���2
���1
�%��	����9��%�7��	
���
	
�0��0����2�
1�< ��

��������,���0
�	�7��	
���6�1��2���/9�	�/��	$5�	
�0�
�
����3	���1��2�	5����6�7�����1��2�
0�
<�	
�I�2�����
�;0�7��	
�1��2�	������6�����
�   ��

#$�����%���-$��J�	5��5����%2��	

������
�	
���<"���6�9��%0�4�%�0�
�4���0�0�	�����0�	
�	
�
	
����9 �



#$�����%���-$���./�$��J�2
��� 1
�%�� �3	��8��/	� ����0� 0�
� �$�� L�,�M2��7��	
���6� 
�$��
��<"��
�$����
�	
��
�;0���6�0�$���	
�	
�:��	���"�7��	
�0�
�	
���1�< �

#$�����%���0����-$��J�1���1
�%���3	��8��/	�����0�7��	
���6�1��2�8�
�0�$���	
�	
�:��	 �

#$�����%���,�$1J�2
��� 1
�%���3	��8��/	�����0��5	�
���	��$5%0����"�7$%	
�45���="��2
��
	�
��7��	
�0�
�
���0��2 ��

#$�����%���2�/J�2
���1
�%���3	��8��/	�����0��5	�
���	��$5%0����"�7$%	
�45���=���2
��	�
��
7��	
�0�
�
���:��0 �

!"3"� #$�����%���
��&������	�	$&�4���(�

G
�%�� �3	�� 8��/	� ����0� 0
/� �>	�� 1��� 1
�%�� �3	�� 8��/	� ����0� �$5%0� ���"� 7$%	
� �$5	
� �
/��
4$�	
�0��K0�	��A2�2�%0��?0��:$��7�%	
�45��� ��5���
��	�1����7����	�$�0��0�1
�%���3	��8��/	�����0�
7��	
���6�5���
�;0�7��	
���6�9��%0�4�%��?	�	
$5�	
   �

���	�0$��4��
�0�$�0�	��	
�:$��7�%	
��0���	
����0
�����6�0����0��0�1
�%���3	��8��/	�����0�0
/�
�>	�����+�1
�%���3	��0�?	�J�

#$�����%���0����5�J�1���1
�%���3	��	����5��0
6����"��	�0����	
$5�������2�����	�	�"���	
�
:
/	
�5��8���4$%0���2����	
��
� �F
%�� 0$5�����	��2��0��" ����	
������ 1���	�=��	���/	� 1�<�
	
�����9�
	
���%0�4������9�=���	�0����	
$5�������2��������$%0�����	�5�����" ��
	�
��������:���1���
	
$5����$5%0���$����$5�	
�	

���	����	��"�8���1��9�
����3	� �

#$�����%���0����.��J�1���1
�%���3	��	����5���$5%0��
/���?�0��K	�	
�	
���$5�0�2�;������	�
0����0����5���7��	
�1��2�	5��5��0����0���2�%�4���	�$�	
��$���0
	�0�$��1��9�
����3	� �

#$�����%���0����6����1J�1��� 1
�%���3	��	����5���$5%0��
/���?�:
	
�:
	
�45���0����5��
�4���9�?��	�2�0����0����5�� �C��"�1���	5��0$������0����
����3	���$���0
	�
����15�	 �

#$���� �%���0����.���� J1��� 1
�%�� �3	��8��/	� ����0� 0���� "�/�� 7��	
���6� 1��2�	5�� �
/� ��?��
:�	���
�%����/9�	��0 ��
��"�	�"��	�������	5�������0��"�6	�����	��1
�%���3	��	����5� �

#$���� �%��� 0���� 7�/��� J1��� 1
�%�� �3	�� 8��/	� ����0� 0�@� 7��	
� 0�
� 	�$�	
� 	
$5��� 0
��
0�$�0�:�K0��
�����0
��7��	
���6�5��4������/9�8���0��=�? �

#$���� �%��� 0���� 6�����
J� 1��� 1
�%�� �3	�� 8��/	� ����0� 7��	
� 1��2� 	5�� 0���� 	
�"��	�
81/��� �

#$���� �%��� 0���� +$� 5���J� 1��� 1
�%�� �3	�� 8��/	� ����0� 7��	
� ��6� 1��2� 	5�� ��5�� 9��%	
�
5��
 �

#$���� �%��� 9��$��� )�/��� J1��� 1
�%�� �3	�� 8��/	� ����0� 7��	
� ��6� 1��2� 	5�� ��5�� 9��%	
�
+���$�9�� �



=�� ��9>�7� ?5��� �/2@(� -/2A�� ?5��� B23�� 1/23�� 4%5+,� 4%562!�� 4�'3�7� ,58�� �79:�/�
���;(<�

��
�	
� ��$5�	
� 	�$�	
� 0
�	
� ��3	�� 	
����	� 0$��� ��$5�0� ���"� ?�� =��	� ���2� 1$�� "�� �5���
	�$�	
� =��	� 	���2� 1���	� =��	� ��/	� 0��0� 1
�%�� �3	�� 8��/	� ����0� 0���� 	
$5��� ����2 � ��$%0� ���
�	�$�	
�=��	�	���2�	��"�0
����	���$5�	
�?��	��������"�����
�1
�%���3	��8��/	�����0�8���0�	����
 ���/���1���4���0�1���	�=��	���/	�4>���?�4���=���2
����
	
�=������3	�����"�7$%	
 �

���
�=��	�	���	� 0����	
$5�������2��	�$�	
�0
�	
� ��3	�����"�7$%	
� 1���	�=��	���/	�
0��0�1
�%���3	��8��/	�����0����	�����9�1������
�0�4���4���0���� �#
��
���4>���?�4���=���2
��0����0��0�
���	�����9�7
�4���0�����1$%��0�
	�4���=�"�/���>	� ���@�����	
��
/��45���	����5���	
$5�������2��
=��	�	���2�1���	5���	�0$�1�%0�	
����9 �&
%�
�K	�1���	�:
/�9���	�0����23	��4��
�	

���	��� ���/��
:���9��%2�	�$�	
�������8���	
�8>���3�0����	����:����>��8��"	��
�����%��:��	��0
�����6�0��/��0���

����3	� ���
�	��	���
/��45���	
$5�������2�0
�	
�4���0����"�0�/��	����5��1���2
���0
�	
�4���0�����
��
%	
��0��	�9�����0�
%	���/��0�
%	��$5�	
��0�
%	�	
��"�
�5�   ����"�0�/��	����2
���0��0����?0���5%9�
���
�0��0��0����	
$5�������2 �

3"!"����	��	�$���4�&�(�

���/���/��0�
%	���/���
/��	��/��4���1"���$5�	
�	��/�����
�=��	�	���2�0����	
$5�������2�1��J�
��
�6��$�� �)��$���9���
:�./�$�������+�� �9��������+�� �8�������	�����;�<���������
9�?����2��:
�	
�9�?����K0��0�
�9�?�����"�����/9�9�?��C
�	
��	$5�0�0���"�4����$5�	
�C
�	
�
��K0� �#
��
�����/��9�����0�
�5��9�?�����"��
�;0����"���2�4������/9�5��9�?��C
�	
��
�;0�C
�	
�
��K0�1����>���3	���
/��	��/� ��
�	�0�
�4���9�?����K0�����/9�4���9�?����2��
�;0����"���2��1���
���
�0�1
�%����/����/�����
�=��	�	���2�0����	
$5�������2 ��3��4��"��8�������
�
��/	
�9��������
�
5��9�?����K0��
�;0�9�?��C
�	
���K0�0����0
�	
���3	�����"�7$%	
� �

3"3"����	��	�$����
'�����

' ' N �&$5�	
�0$���0��0�1
�%���3	��8��/	�����0���%2���5��J�

)�*��������#�
����4���)�*����,�*��7����J�=��"�2�;��4����$5�	
�C
�	
 �

)�*���������)�����4���)�*����,�*��+��$���4���)�*����,�*��6��
/��J�=��"�2�;��
4����$5�	
����" �

)�*����������+����J�=��"�2�;��4����$5�	
���2 �

)�*�������������J�=��"�2�;���$5�	
���K0 �

)�*����,�*��������J�)�*����6�
�,�*��=��"�2�;��4����$5�	
�C
�	
��)�*����,�*��
8	���-�����6����
�=��"�2�;��4����$5�	
�C
�	
��	�$	
�)�*����,�*��8	���-�=��
�+�=����
1�%��=��"�2�;��4����$5�	
����" �

' ' ' �&$5�	
�0����0��0�1
�%���3	��8��/	�����0�0
/��>	��J�

��"�����
�1
�%���3	��8��/	�����0�2���=����>	�����
��$5�	
�8���0�	���(�



0���5�� J� =��"�2�;�� 4��� �$5�	
����"�� ��;�� �
�	�7
�	
� ���
�0������C
�	
����" ��$���
0�?	��25���$5�	
����"�4���0$%��9��%�25���$5�	
���2 �

0����.���J�0��	
�=��"�2�;��4����$5�	
����"��	�$	
��
�	�7
�	
���;�����
�0��������K0�
��2J�0$���0�?	��25���$5�	
����"��0$���9��%�25���$5�	
���2�4���0�/����$5�0�2�;��H�	
�O� �

0����6����1� J�2�;��=��"�4����$5�	
����"��	�$	
��
�	�7
�	
���;�� ���
�0������:
	
�
:
	
�45���H�	
�O���0$���25��4����$5�	
����"���
�;0��$5�	
���2 �

0����.����J�=��"�2�;��4����$5�	
��
�	
��25��0$%���
/��7���	�45����H�	
�O� �C�;���
�	�
7
�	
����
�0��������K0���2 �

0����7�/���J�=��"�2�;��4����$5�	
���2����;���
�	�7
�	
����
�0���������"�C
�	
��4���
25��0$���4���9�?����2 �

0����6����
� J�0$��� �0�?	��	�3	�4����$5�	
�C
�	
���;���
�	�7
�	
� ���
��$5�	
����"�
C
�	
 �

9��$���)�/���J�2�;��0$���0�?	��25��4����$5�	
�2�;����5���2
%0 �

�
$5�������2�=��	�	���2��$5�	
���K0� 1����$5�	
�0����2��=�@��	��	�	����0$%�� ��"����
�
/��8�
�	
�=��"�2�;��4����$5�	
���K0 �C��"�1����$5�	
����1�%��0����6��/�>����2��=��"� �P���	
�
�����+�����0����	
$5�������2���	���)�*����25��4����$5�	
���2��	�$	
��$5�	
�0���������
)�*����9�����=��"�����$5�	
���K0�1����$5�	
�0����	
�I���>� �

&$5�	
���2�1����$5�	
�0��������	�
��	��	����5��0
�����6�25��0$%��4����$5�	
���2 �C��"�
1����$5�	
����1�%��0����?��>��������	�
��	� �

&$5�	
����"� 1��� 0$������0����8
����� ���2�9������0$������0����	�$�	
�	
$5��� 0��/����6�
��
/	
� 8
����� ����	� 8��� ���/� 
�5���� 	��	� 0$��� 0�?	�� 0���� 0���� 5�� ��
� 
�5�� 0��	
� 25�� 4���
�$5�	
����" �.�����
	
�
����3	��0
��	
$5���0��/��	
$5������:����$��������������	�A2�5��?�
�5��
�9�
�	
� 8���0�� 0���� 0���� 5��� ��6� 1��2� 1�<� 2��� ���	
 � &$5�	
� ���"� 0
�	� 1��� �$5�	
� 0���� +$�
81/��� �

�
�	��$5�	
�C
�	
�1����$5�	
�0����+���$�9���4���+$�5�����4���0�����4�������	�1�	���
	��	��$5�	
�	��"���$5�	
�7��	��0�
�1
�%���3	��8��/	�����0�9��%0�4�%�0�
�4���0�����	�$�9��$����
)�/��� ����	� ����9� � P���	
� 0���� +$� 5���� ����	� ��5�� ����	�� 	�$�	
� �$5%	
� ��5�� �
/� ��?� 4���
�$5�	
�C
�	
�	��	�25��0$%��4����$5�	
����" �

' ' L �&$5�	
�0
6	
�	

�J�

��"�����
�1
�%���3	��8���	�����0�2�������/��8�/�0��0�0
6	
����
�0��0��$5�	
�9�����5%9J�

�
6	
�	

��0����)����	
�I���>���25��4����$5�	
���K0 �

�
6	
�	

��0����0���������
������	���$5�	
��25��4����$5�	
�C
�	
���K0 �

�
6	
�	

��0����0����+$�5��������	���5������	�1�	���25��4����$5�	
����" �



�
6	
�	

��0����9��$���)�/�������	�����9��25��4����$5�	
�C
�	
 �

�
6	
��	

��0����8/��0����2����#�����	������$5�	
�7��	��25��4���9�?�����"���2 �

C��D:��EF�B'�-9:��7<��

C5	�4>��
� 1$5�	
�7��	
� ��
	
�0
�	
� ��3	�����"�7$%	
�8���	� ����0� ���"��	� ��
/	
�0����
	
$5�������2���/��9�
	
�9��� �&
%�1�/"��
��9���	�����	����6�0����0
	�	
$5���1��2���$5�0�2$%0���6�
�
���%0�	�$�
�	
���"�����	���"��	

�	���"��0��	����"����"��$5�0���   �F
<���5��4>�7�������"�
	
�K	�$�	
�45���2
<���
��9���	�0����05����6�0
	��	
$5��������0
�����	�

%������	
J�

@"!"�A'�����	'�=�B���$���/���78�(�

7���1����5	�4>�05����	��?	���$��0����0�
����/	������	

�	���" ��
�����1
�%��7���7��	
�
0�
�2
6��1
�%��8��/	�����0�8���0�	���J�

Q�78�?8#86J� �$�� 0���� 0�
����/	������	

�	� ��"�
�$�� �#��	
���6��
�0��0� 1
�%���3	��
8��/	�����0�1����7��� �

Q�78��),8C7J� �$��0���� 0�
����/	������	

�	� ��"���9���� �#��	
���6��
�0��0� 1
�%���3	��
8��/	�����0�	����5� �

Q�78��#D�.D2J��$��0����0�
����/	������	

�	���"���� �#��	
���6��
�0��0�1
�%���3	��8��/	�
����0�9��%0�4�%�0�
�	
���1�< �

@"3"�A'�������$B��'��78�(�

Q�-7E�J�0������	
�	
�0����	

�	���"���5	�4>�	�
��	��/�� �

Q�-E)J��
/��	

�	���"��N���8�R�'����	� �

Q�+87J�0������	
�	
�0�������	���" �

Q�D;F�.�.8#;7J��$�������	

�	���"�0������/	�8�5�9��$5	
�0�
/� �

Q��869GJ� �$�������	

�	� ��"�0������/	������	

�	� ��"� ��
���7��	
���6��
���/��0$��0��0�
1
�%���3	��8��/	�����0����
�0�4���	����5� �

Q��8.86�9D6G�.�)8#8�J��$�������	

�	���"�0������/	������	

�	���"�
�$����7��	
�
��6��
�0��0�1
�%���3	��8��/	�����0����
�0����	����� �

Q��8.86�08�.�?8��.�8G)J� �$�������	

�	� ��"�0������/	������	

�	� ��"���9������
7��	
���6��
�0��0�1
�%���3	��8��/	�����0�	����5� �

Q��8.86��)8H8�.J��$�������	

�	���"�0������/	������	

�	���"������7��	
���6��
�0��0�
1
�%���3	��8��/	�����0�9��%0�4�%�0�
�	
���1�< �

Q��8)8G�.�D;F)J��$��0����0�
����/	�8�5�9��$5	
�0
6���" �

Q�)8-D-�87-8EJ��$��0����0�
����/	�1
<�	�K2���" �

Q�+8+E8)�086J��$��0����0�
����/	�������$5	
�0����	�K2���" �

@"@"�A'�����/'����'��78�(�



Q�98,8J��$��8�5�9��$5	
�4�����/	�0�
/��	

�	���"�
�$� �

Q�8)D(��$��0����0�
��0������"���������/	�0����0�
��0������"�9���� �

Q�-8+8�8)8�J� �$�������	

�	� ��"� ��������/	������0����	

�	� ��"�9������7��	
��
�0��0�
1
�%���3	��8��/	�����0����
�0�4���	����5� �

Q� -8+8� -8�8C7� ,D58J� �$�� ����� 0���� 

��� 0���	� ������ ��/	� ����� 0���� 

��� 0���	� 9������
7��	
���6��
���/����� �

Q��87��8�8#J� �$�������

/�� 0����0���	�	��"���/	�7����

/��0����0���	�8�����
���A	
�
0��0��	

�����/9���A	
���7��	
���6��
�0$������4��
 �

G���'A�7�4�9+,�-��(�����<�

����� 15�	���"�	�
����
�	
���"���%9����A	
�0��0���?	��0������7����0����D���� �����	���/�
��
�	���"��4���D������=����	��
��=����
��	
���"� �F
<��0������7����0����D������=����	��
������
�$5	
�$�	
�45���2
���0
	�:
/�	��/���>	���
/��45���0������7����0����D��������	���/"�

Q����	�	����'L�����D��������	���/���3�+�����D������=����	��
 �

Q����	�	����N*�����D��������	���/�����0��	
�+�����D������=����	��
 �

Q���/��2�
/	�1��2�	�
���5	�45��J�N(�����D��������	���/���3�)�����D������=����	��
 �

S�N*�����D��������	���/���3�T�����D������=����	��
 �

S�-�����D��������	���/���3�0��	
�T�����D������=����	��
 �

���
�=��	�	���2�0�����
�	
����
��	�����
/��	��/��1��� 1�/"�!I�����!���
�$�����
�D����
����	���/���I�����J�D������/���D������=����	��
 ���������	
��3	��1��J�K�����D��������	���/�
��I�����D������=����	��
 �

P���	
��
/��45���8��
�	�4���	��	
$5�������
���A	
�:����0���	���$5�0�0���	� �F
<���$5�0�1����
N���	 �

Q�.��
�	�4���	�15�	J�M(���	������
�	
���T(���	�����7��� �

Q�.��
�	�4���	�	�
�J�''���	������
�	
���LL���	�����7��� �

��$�4��"��0
�	
���$�0���6��?	��8��
�	�4���	��8��
�	����
��1��J�N������
�	
�R�'UL�����7��� �

H��
6>�4�5�@4�I�A6�J9.�7<�

��
���/	�	�"�8��/	�����0����"��	���
/	
�0����	
$5�������2�4�<	�0
�	��
�	���%��7$5�������
1
�%���3	�J�8��/	�����0�

<�4���8��/	�����0�
�%0� �.��/	�����0�

<����"��	���
/	
���$5�	
�7��	
�0�
�
4���0����"�7$%	
�	��������	
�4���0��0�0
�	
���3	��0
�	
�0
�	
 ��
�	�8��/	�����0���A	
�
�%0��0����
"�/��7��	
���6����"�7$%	
�0��0����	�����9���6��
�	���5��0��0�4���0���� ��
��"�	�"������1
�%���3	��
8��/	�����0�	��"���	
�5����
	
��3	�����%	
�9�������"�4������/	�2�/��7��	 �#
��
���4���0�=��	����2�
	
����	�0$���4���8"������������"�7$%	
�:���

�9�9���	���/��15�	�0�
�4���0�8�
���9��%0�7��:��	�4
��
����
	��"�0������/��	$5�0��� �

J"!"�)����������������
����
��&������	��$L(��



) N N ������1��������"�7$%	
J��

���0�4����1��������"��7$%	
��
/��45���8��/	�����0�

<����"��	���
/	
�0����	
$5�������2�0����
"�/��1���

<�������	$�������	��������2��"��1�%��4���0��0�1
�%��7��"�1�
   �

��
	
�0��0�1
�%��4����1�����8��/	�����0��

<�1���2
�����
	
�0��0�4����1��������"�7$%	
�8�
�	
�
���6�����/���$5%0��
/��45���8��/	�����0����"��	���
/	
�0����	
$5�������2 �D
<�7��	
���6�1��2�0
���
	����1"���$5�	
�	��/�����
�=��	�	���2�0����	
$5�������2�1���+��������2�����0
�	���
�	���"���3�
9�����8�6���/	���$5�0���/��1���+�/�6�����
��
�
��/"���8�/�25�����/	�#�$����A	
�1��	
���:���	$���1���
���� ������� 1����� �,��� ��3�	
$5��� ���7��	
�0��"�-�/� ����	� ���	
���0��"�	��"���/��0��K0�4������	 �
H��	�	������3�7��	
�-�������0��"���>����"�#�$����A	
��1��	
���
�;0������������1����� �

) N ' �E������3	�����"�7$%	
J�

E������3	�����"�7$%	
�8��/	�����0�

<����"��	���
/	
�0����	
$5�������2��	��/��1����
/��45���
4���0����"�7$%	
�	����5�����$5�	
�������=���	�������$5�0�8���0�	���J�,����-�����������0����
�0�
%	���/�����"�7$%	
���+������8
���0�����0�
%	��$5�	
����"�7$%	
���+������9�$��6=����
2���� #���� �7$%	
� 0$��� 	

�� 8��
�	� 4���	� 	������ +���� .������� 0���� ��
�	
� 0
��� 	������
+������0�����7$%	
�0
���	������#��
�6�/��������������)/��0��������"�7$%	
�4��0��	������-�
�
.�
��15%9�2����	������,�$����$���-��$��)�����1��2�:��	�	������-�����0����9���1��1�<�4��
�
	����25��� �

J"3"�)��������������������=�M������	�(�

) ' N������1��������"�7$%	
J�

�����1�����7��	
���6����"�7$%	
����	�����9�0����	
$5�������2�0����"�/��1���
�%0��4������ �
���
�:$%�8���
�:����0����2
���:
/�	����	
����	�0$����3	��7��	
�4���8?0����$5�0�0����	�$�	
�4���	�

�%0�����"�7$%	
����	� ����9�0����	
$5�������2� ��$5�	
�8�
�	
��
�	
������	�����8?0�� ��$5�0�
9�
6����/	J�7���� �$��N)02�,�L)02���
�	
� �$��N(02�,�N+02��7��"� �$��M02Q�+02 �&3	��7��	
�
4���	�
�%0��0
���3	��8�
/��0�$��	�����4�
�	
�4$�0��?��0
�	
�4��	��4���	�	
�0�?	����� �F����:�K0�
0����
�%0����$5�	
�1����
���$5����"��
��	��%� ���$�	
�4���	�
�%0��	��"�1��2��$��	
�"��	�4����1�����
��/��:����9���0����0
������2�����	��9���	�
�����A	
����/�����
����	���6���%
�0�
�4���	�
�%0��0
���
��
:
/9 �

H
�45���4����1�����
�%0�������0���/2��@�1���?���5	 �C�����$5�	
��$5%0���������	��8�
/����"�
����	����/2�7��	
�5��	�$�	
�4>���?�0�>��1$%0�	��	�0�
�	�$J�0
���0�
�	
�0$����2��0$����7���2�9���	�
���	
�2��������62�

�0�����9   �G
�%������	��"�

�2�0
������1
�%�J�����
��	���2������	��	��%�����5��
2>	���
��0$�	
���
��7���0�
��0�>��1$%0�	��	��
/��4�������H�1�0��2�������2��
����
��0$�	
�0�
��8�/��
0�/��
6	��>	�����%0�0��%2�?��:$���2�� �

�) ' ' ����/��8�/��7?	�J�

���
�	������8�/��=����8���
�:����	
����	�0$���
��	����"�0�
���A	
��	
$5�������2�����:$��
7�%	
�0��0�1
�%��0��/��8�/��7?	����$%0�4������6����"�7$%	
�0��0�	

�������9 ����/��8�/��7?	��	��"�0
��
���6� 1��� 0��0� 1
�%�� 0��"� �
%� 7���� 0�
� 	������ 	�$%�� 	�$� 7���� ����� �����	� ."�� V�$5	
�� N-+(� �



�

��������	
$5�������2�0
�	�:$��7�%	
�0��/��8�/��7?	���$����$%0�4����	�$�0��/��8�/��7?	��1�/"��$��
0��"� �$5	
� �
�	
� ��

�� ���	� #
�	��� N-*+�� ��"� 7�	
� 7>0�� ��/�� :���� �WX�X��	0Y�8� 4���
H8���	:8���N-+*� �C�;0����������
	
���$5�	
��5%9�0��������9�V
��P
�2���5����	�������	��4��
�
	�$�	
�	��2�
��	����"��	
$5������4�<	�0
�	�	�3	����/"���/���
��	�$�	
�0��/��8�/��7?	��0���"�����$��
	�$�	
�8���0����4���	�
�%0� ����/"�1���2
���1
�%��	�$%��0��"��2����	��� �G
�%��0��/��8�/��7?	��	��"�
��
�

�2��
<	��5%9�7���������4���4
�� ����	�0�%	��4���0�7��	
�	�$%��0��"�	
$5�������2�0
�	�7��	
�
	�5���0����0��0�1
�%��0��"���6�1��2�0��/��8�/��7?	��	�$�	�5���0����0��0�1
�%��0��"�
��7$5�0���5���15����
7��2���%��4 4   ������	������������'(((� �

) ' L ��
�	
��
�%	����"�7$%	
J�

�
�	
��
�%	����"�7$%	
����	� ����9���A	
�
�%0��0����	
$5�������2��0�
���/	�	�"�4�<	�
0
�	�	�������������?��6	��
/��45���	����	
����	�0$�����
	
�4���	

����	$5�0 ���?	��43�4��"��
��	�
2
������/�8"��	�"��8������/9�0��	�45���8��/	�����0����"��	���
/	
�0����	
$5�������2��	������	
$5���
����0����"����/	�0
�	
��
�%	����"�7$%	
����	� ����9��2
	
� �$���
����;��05�:5��0�
�4���0� 1"��
�����
	�$�	
��?��6	���	
�=��	��1
�%���3	��8��/	�����0��
�0����
�	��" �

&���	�	�"��0
��8����	������
�������"�/��8���0�	����8���1"��
�����4���8"������������"�7$%	
�
���	� ����9� 0���� 	
$5��� ����2�� 	�$	
� �$%�� 0��	
� 1�%�� 0
�� ���6� 0���� 	�$�	
� 
���� ���"�/�� 	��"�
����	��2�/"�7�%	
�	�$�:��J�

) ' L N ��
�	
��
�%	����"�7$%	
����	�����9����
�
�������"�/��8�
/�����"�2����0���9J�

���
�
�������"�/��	��"�0�
���A	
J��C�6����"�7$%	
����	�����9�0����	
$5�������2��0
�����6�
7��	
�0��0�4���	�
�%0��	�	
�	��%�1$����$5%0�2����1���	���%0�0�
�7�/	�8���0���	
�0���9�8�?��4��
�
	��� ���
	
�=������3	
�2����1�
�	�1�
�	�0
��:$%�0
��2�;��0�����	$5�0�4���0��/��8�/��7?	� �H���8���
2����8�/���5%9�45���	������%
�����	��2
����
<	��5%9�0
���?	��8�/��7?	����	����� �#
�
�%0������2�
0
���
���
�	
�:
/9�4����
�������	$5�0�0�
�	��	�2��	
�2
�	
�0��/��8�/��7?	��	��"��3	������	��4
��
:
/�0��0�0���	�
�K	�0��;��4��
�2�;��0��0�����2�;��4���	�
�%0��

�9�9���	�1���	�8�/��0��0�4���	�
�%0��
45���	���Z������	������������'(((� �

) ' L ' ��
�	
��
�%	����"�7$%	
����	�����9����
�
�������"�/��8"���������2������/9J�

.���0�45���
���� ���"�/��8"�� �������8�
/�����"�2����0���9��
���� ���"�/��	��"�0�
���A	
J���
.������"�7$%	
����	� ����9�	
$5�������2�8�
�	
�0��	�7��	
�0��/��8�/��7?	��2���0�@�2����2�;��
���/9����0�0����0��0�4���	�
�%0����
	
�	$5�0�0�
�	��[	�4���9��B	
��
�����/9����
�4>���?�0����0��"�
����9 �H���8���8�
��0��0�4���	�
�%0��7?	��0��;0�45���	����2
���0��0��8����0��K0Z����>	����
�
�$5�	
��N-+)� �

) ' L L ��
�	
��
�%	����"�7$%	
����	�����9����
�
�������"�/��	�	
�����9J�

���
�
�������"�/��	��"������9��$5%0�	�	
�1�%���
��	��
��2
���1��0�:���8��������$5%0����"�
7$%	
� �$�� 	�$�	
�4���	�
�%0��	�	
���A	
�7�	
�7>0����/�� :���� �WX�X��	0��8�4���H8���	:8���
N-+*���
�;0� ����9��$5%0�	�	
�:���8������"�7$%	
� �$�	
�	�$�	
�4���	�
�%0��2
�0���A	
�0��0��
���"���A	
�
�%0��2
�0�$5����2
<��	
��"����"�M�,�)�15�9��8������"�1��	�0�
���/	�N�)2��0��/��0����



��	
�=��	���:����
�� ���/9� ��%0��$�	
� 1��	� 15�9�0�������"� ���/9�0�
���/	�8����
	
� ����9 ���
/��
0��	
��
/��1$���	�	
��
������9��&
��	
�C��	
�G
	
�4�������	��

%0�E��/��N-++� �

) ' L M ��
�	
��
�%	����"�7$%	
����	�����9����
����"��	����"�/��0����	
$5�������2J�

���
����"��	����"�/��0����	
$5�������2��7
�
�	
�C
6	
���$�0'��8�6�1�%������	�����9�0����
	
$5�������2��$5%0����"�7$%	
���A	
�
�%0��2
�0�0
�	�$5���0�$��	�	
 ���$5�0�8������"��	�$�	
�
4���	�
�%0��	��"������9������$5%0�	���	�4��
�7������$%0�4������
���25���7��	
����"�����9�1���	�	
�"�
1��0��
� �.������"�1��	�0�
�8�
��	
�N2�,�N�)2���3�	
$�	
�1�%����6�0�
�
�%0��8�
��4���8�/��7?	��
45���	������
���1�/9���/����	
�=��	���$5�	
�����9��������" �H����
����
%����/9���%0��$�	
�����	�15�9�
��/��	��"����"����/9�0�
���/	�8����
	
�����9 �!��"��5��������1�/9���/�����
��5����
��0�
���/	����	�
	

%	�����9�0�
/��0��	
��
%��
/��1$���	�	
��
������9� �

.��� ����9�	�	
�0�?	��
�� ������
	
��	
$5��� ���7��	
� 15�9���/�� 1�/9���	
�=��	�����	�
	

��������9����"�0�
�
���	�
���
����A	
�0��0��
�%��15�9���/��	��"����	

������%
�����	��2
���2�;��
��A	
���	
�=��	������9���6�0�
���5%�������8��K0����/	����	�����	
���? ��
�	
��
�%	����	
���?�
�$5%0����/	����	���$��	

%	�����9���
/	
�7��	�7��	���/	�0���	�����9 ����	
���?��5��������	
$5������

�%����/������5����
��0�
�9�����5%9�45������/�	

���0����	
$5�����5%����	
���?�4���������8��K0 �&3	��
����9�:���1
�����7��	�7��	�8���	�$�	
�15�9���/��	��"��$5%0�
�%���� ���
/��0��	
�8���	�$�	
�15�9���/��
�$5%0�
�%�������/����3�����9�:�������	����	
�"��	��3	���
��	�0�@	�������	��V���	��'(((� �

E���� ��3	�����"�7$%	
�9��$���)�/��� ����	� ����9��0
�� ���6� �
�2���K��=���+�
�����
�%	�
0�?	�J�

Q�D�����
�%	�NJ�0���6	��>�0��/��8�/��7?	� �

Q�D�����
�%	�'J����0�
�%0�����
�8��
�	������>	��:�[	 �

Q�D�����
�%	�LJ�	���	�
�%0��4��
�0��/��8�/��7?	� �

Q�D�����
�%	�MJ���/9�
�%0�����
�2
���3	������9 �

Q�D�����
�%	�)J�1�/9���/��0��	
�=��	������9 �

Q�D�����
�%	�TJ�	�	
�����9� �

Q�D�����
�%	�*J�
�%����/�������6�1��2�7��	�
���
����	
���?�4���������8��K0 �

Q�D�����
�%	�+J�

%��7����4����
��	�0�@	���
��	��
��8�
/������9 �

NO���������	�������	�P�

K��
234�-5�@�<�

.��/	�����0����"��	���
/	
�0����	
$5�������2�1���2
�����
	
�	�$�	
�1
�%���3	��8��/	�����0�
0
�� 	������
���� ��>� 1>0�� :$�� 4��� ���62�2"�� 0�
 �F
<�� 1
�%�� �3	��8��/	� ����0� 8�
�	
� 0�@� 1���2
���
0
�	
� ��3	�� 9���	� ��	�� ��;0� ��$	
� 4��	� �
���� ���� �
���� �
�	� 
���
� 4��� �?	� 	
$5�	
� 0���� 	
$5���
����2�2���0
�	�1���2
������0�9��62�	
������������$5%0�	������
�5���8�
���
%0���
	
�4���	

����
	$5�0����	��
����0�
 ���$	
�7
�:$%����"��
�%���5���2
��� ��$5�	
�� ��5���
��	��0���/	� ���	��4���
0
	�	
$5���� 0�
�	��	�� ��/�� ?��	�$�	
�0
�	
� ��3	��8��/	� ����0� ���"��	� ��
/	
�0����	
$5�������2�
0
�	�
�$���$5%0��?	��0��/��	
�"��	�4�%	�	�$����5����	������0����	
� �



#
��
���4���0�����	
�����8�
���9��%0�4������
��
�	�1�����������/��0��	�����/���
/��45���7��:��	�
4��	��
���0����	
$5�������2 �C�6�0�
�0
�	
�4���0�����	
�����8�
���9��%0�4������
��
�	���%��������
=����0�
��0���	
��
�������/��	
�I�0��	�9�����0
��2
���0�$5	
���3	��	
����	�0$���2
���0��0���
��	�
7���	�4��� 0
������ ��
/	
�� ��
	
��
���0
�� :$%�9�
/���5%9�	������	
��	��8�
���
%0�45���	����	�$�
8��/	�����0�����"�7$%	
��7��	��
�0��
%0��8���
�0
6��
%0��1>0��:$����>��1?�����
����	
   �

�7EF�-7Q�7(�

��?0��	
���7�	
��$�1���������	�7���4���8"�� ����������"�7$%	
����	� ����9�����2������	��
V���	��'(((�J�

\]	
�C
6	
���$�0��+)���
6���V�1���V�7������
�	���$��3	�������V�$5�0����������"��	�
��	�� V�$5�0�� �@	�� ��	�� �����	�� 1��� 	
$5��� ��$5�	
� �
%0� 	������ 4��	� ���	� 0
6� 4��� �2� ���6��
9�
	
���%0����9�=���	�����2 ����
�\]	
�0�
���/	�	�"�4�<	�0�$���32����/"�4��	����	�0
6�	��
�
4��/�� 4��� 8"�� ������� ���"� 7$%	
�8��/	� ����0� ���	� ����9� ��A	
�
�%0�� 0�����
$5�������2 �#
��
���
	�$�	
�	
���7�	
�7
�\]	
�C
6	
���$�0�8�6�7$5������"�0�@�1���	�$�	
����"��	����"�/���$5%0�8�6�
1�%�� �$��	�$�	
�4>��
��1��
�����2�2�����
�� �����	
��
�����	���?0��1�%��2
���9���	�	
���7�	
�
���
��2�4��
�	
��"�'+�����	
�-�	��2�'(((���6�1��2������1��������2�8���
J�

�   �^��	
�2��	
�8�1�1�0��	
�9���2
	
�7����	����7�
8�2�	��	
�9���1��������8�
0�
��1�8�������

8���1�	�	��"���	�	�"����2
	
�"�	
�2��	
����
1�
	
 �#�
8�2�
	�	�	��8��
"���2��8�8�����1�8�7�1���2�	��	�	�2��	
�_���	
�2�
	 �

��2
	
�O�	
����7�1������8����8�4�8�����
 �^��	
�7�8�8��8���1���1�������	
�����
��1�8���1�	�	��2�
�����	
�	7
2�"���	�	 �����2��	
�	
�9�O�	
���2
	
�O�	
�.��	��
7�	Q"��	
�9�"��	�	���������
����
��	�	�"��	��2��	
�0��������� �F�
�����	
������	7
2�
2�	������8����
 �

^��	
� 2��8� ��
���� ��� 8��8� 
�2� 
�9`� ^��	
� 2��	
� 8�1� 2��8� 2�	"�8� 7�2

8�
	
�9�8��8��8�
�2�
�9 �F�	��8�7�2

8�	�	�2�	"�8�	
�
X��2�	"�8�8�	X�	
 �

^��	
�2��8�8��8�2�����	_�8�2�	"�8�7�2

8�	�	���1�
��0��8�7�8�7��
�9 ���1�
2�	"�8�	�	������	"��	_�8�7��
�9�	"��_���	
�	
�9�"�������8��8�9���� �

.��8�	�	�	
�9�2�7��2�	��8�����0�����
����
�� 1
��	�����2�	��	
�9�"�����1�8�
2�����2�	��8��0���9����8�
 ����2�����1�	_�8���2��7��2�	"�8�7�2

8 ��1�
�����	�
�
7�8�7��
�9�2��	
� ��8�	�	����� 1
�� :
��
��	�	�8��2��	
�	"��	_�8�
�9�	"� �O���	�	�8��
2��	
�	"��
�2�
�9 �

�
�9�������1�	"����
	
`���
	
�8�"�����
	
 �

�
�9�"����	
�9�O�	
�#�	
�#�� �������1�8�M�8��	
�8������	
�������1�8�9��
	
�
��1
�2��	
�	
�9 ��1�
��8�����1�8�4�8 �O�8�	��7�
8�	��22��8�9��
	
���1
 �

F��	
� ��8�7�8�1��P�
1���2��	
�8��	�	7�8�7���	
�
8���2
	
� _���
1���� _�8�9��	�
8�"��� ��2��� 7�� �	
�
8� ��2
	
 � ��1� �8�
8� ���	� 2��� 2�
�� P�
1��� 	7�8� _��� ����8��



���
2�7���	
�
8���2
	
 ���	�"��2��	
�1�4�8�2���8�����2�
����2�	
�9�
 ���2��
�0�
8��	�	7�8�
 ���2�8��	�	7�1���2
	
�V
�7���	
�
8���2
	
 ���	�"��2��	
�1�4�8�2���8��
���2�
����2�	
�9�
 ���2��
�0�8��	�	7�8�
 ���2�8��	�	7�1���2
	
�V
�O�	
�
 �P�
1���
2�	�8��	�	7�8Z �

�

�����L��M	������
����J�

N � WX�X��	4Y�8�� H H � .���	:8��� N-+* � .$��� ���R�� �������� 	
��� 
��� ������� �����
�
�������������������%9�0�?�8���
�0
6��
%0��:
/�N���� �T(�,�TL �

' � �����F�%	��V��%	
�N-+) �#���S�T����U���������
�������������	�����������%9�0�?�
#��1>0��E���	
���2�,�C�����[	
��H
/�T�������	
�*����� �NM �

L � ����E��	
���$���'((( �6$���������
�������<
B�����������T�����%9�0�?�!��"�#$%	
��
:
/�-���� �'M�,�') �

M � �1��":��N-LL �D���$��	��$�����#V�������#V8�������������������&����
�� �

) � &
��!���	��>	���N--( �9������R�
��� �������������
�������������������
	
���
�	
�
���
�	�$�	
�9���������	�25���4���8���
�0
6��
%0��&����
������ ''L�Q�''T �

T � &
��	
�C��	
�G
	
������	��

%0�E��/�� N-++ ����&�� 
�&����������� 
��� ������� �����
�
����������������,���������
�0��
�8�
���
%0���%��&
���	
�>���
�	
����
�8���
�0
6�
�
%0�	��2�N-++ �

* � &
��	
�C�%
�.?	��4���.�Y�2����.X���8
X:8���N-+) ���T����T�����<
B��-�����
�����N�!KW!���!KWJP��-����	���
��B$�	$X��$�	��:
/�L���� �)NQ�)T �

+ � &
��	
�C�%
�.?	���'((( �9�B$��$R��	��	������	����T���$������T� ��$����������&��4�R�
/���/�����������
�	����L� ���%9���?�.��/	�����0��H
/�L���� �M(QML�

- � &
��	
� C�%
� .?	��� '((( � 9�B$� �$R�� ��� ��	�� ��T�� �$��� ���T��� ��%9� 0�?� !$�� 4���
��"��H
/�*)���� '(�

N( �.�Y�2����.X���8
X:8��� N--) �-�
�	� 	��&�� ��&�� 4�R� =�B$� �$R�� 
��&�� ����	����T� �
��%9�0�?�	
����	�0$���C
�	
���2�Wa��:
/�M���� �NN*QNN+ �

NN �G�����������
��N-** �-�������������S������������� �.�
���
0�."���������&����
����
�� �N-T�,�'N( �

N' �G���C3	��V��%	
��N-+* �-%�����X��
����������������
����������������Q���������
�0��
�
8�
���
%0���%���
���	
�>���
�	
����
�8���
�0
6��
%0�	��2�N-+*� �

NL �G��� C3	�� V��%	
�� N--( � )��� ������� ����� �
���� ������ 	����� �$��� 	��Y��� 4
'�����
��������	
������%9���?�8���
�0
6��
%0��:
/�N �

NM �G�	��� b �� N-'+ � E�� �$������ ��<����� (� #�<� ����<� ��� /���<� ���<�� V���:� ���
�����11�: �

N) �G$5	
���	���N-+* �.$������R���%�����X��
����������������
����������������,������
���
�0��
�8�
���
%0���%��&
���	
�>���
�	
����
�8���
�0
6��
%0�	��2�N-+* �



NT �F�:9���
� F D � N-'+ � #�� ,$������ ��� �������� V���:� ��� �����11�:�� N-'+��
�� L* �

N* �C�;	
�.�2��

%0��N-+L ���
���������$��	���'�����R����������������
	
���
�	
�
���
���$�	
�9���������	�25���4���8���
�0
6��
%0��&����
������ �N+-�,�N-( �

N+ �C�;	
����	�������N--) ����	������	�����T������&��4�R�=�B$��$R�������������������%9�
0�?�	
����	�0$���C
�	
���2�Wa��:
/�M���� �M�,�* �

N- ��
����2����62�4���G$��E�?����	��N-T' �-'����%�����R�����	�4������	$�������	������
	�&��������$���4�R�������)�/$�������0$�����<�����4�X�	�
���=�B$������	�B��	��	�����
�������������T��������+$�?�� �������+�$X�����4�R����'������+$�7�$� �����	���2�
8���
�0
6����9�:�	��:
/�L��H����D
�	����� �'M)�Q�')M �

'( ��

�� ���	� #
�	��� N-+T � ������ ������� 
��&�� ����	� 	$X� 	�B�� �������� ���	� �
���
�
�I���3	���:
/�LcM� �

'N ��

�� ���	� #
�	��� N-+T � -����� ������ �� ���� 	����� 4��R�� ���� !KWJ�� ��%9� 0�?�
�
����	�0$������	��
����
������������:
/�)���� �'(�,�'T �

'' ��

�����	�#
�	���N-+* �0������Z���R�
����������������
����������������,���������
�
0��
�8�
���
%0���%��&
���	
�>���
�	
����
�8���
�0
6��
%0�	��2�N-+* �

'L ��

�����	�#
�	���N--M �-�����	$X��������<
����������������R����$�������� ����	�
�
�����
�	
���	��&����
����')(����	
 �

'M ��

�����	�#
�	� �-�����	$X����������$���/$����/�	��<
B����%9�0�?��
����	�0$���
C
�	
����2�Wa��:
/�M���� �)M�Q�*N� �

') ��
�"�<	�#�"�&�	���N-++ �)�/�������������������
�	��'������%9�0�?�.���
�0
6�
�
%0��:
/�N��&����
������ �)- �

'T ��
�"�<	�E�
/0�&��	
��N--) �)����������������
����
��&������	����T������	$�������	�
[��B��/�� �=�B$��$R� ��$������$�\��������������	����������%9�0�?��
����	�0$���C
�	
�
��2�Wa��:
/�M���� �')�Q�)L �

'* ��
�"�<	�!���	�G"���N--N �S��������������� ��R� ��� ��	��
��&�� ����	����T��'B�-������
7�B� ���
	
���%9�0�?�.�
���
%0�!����
����:
/�*���� *'�Q�+( �

'+ �V��2�	���� � & �� N-(- � D���������� ?�<	����� D]� ��<� �$������<� ����� ��� #V�
8������V���: �

'- �V��	����	��G5����N--- �9
'�	�4�R���%�����X��
��&������	��������4
'����7$R������$�
	�B����
'������T��'B�-�"�7$R�����6�����8�
���1���	�0��"��	�	
��	��7��	��
�0��
%0��
�9 �&
����?�F�	���L+����	
� �

L( �V��	�!���	�����	��0��������	���N--( ���
'������T��'B�-������7�B� �:5�����	��
���
��
�	
���	������	�&�����L*'����	
 �

LN �V��	�!���	�����	��V��	�W	��V��	����	�#
/9��N--N �S�T���$������T�����������/��
���	�.�
���
%0�!����
����&����
����L-)����	
 �

L' �V
� #���2��� D � F
�::�"� 4��� W�7�1� .���2�'((( � ���� 6��� 6���� 6�
����
.
1�8:��F�	�:8��9�F�1�"����29����(��L��.��1��G�29����NT'�9 �



LL �H���	��N-M' �#V�����������������0$�����$/���$��,��
�1
�:� �

LM �����	�� V���	�� N-*- � 9
'�	� 4�R�� �%�� ���X�� ��R� ����� 	
B�� 	�B�� 4$R��� =��$� ������
N����9���P�������+����,������-������7�B���G���	�4��	��
/��	
����9��NM*����	
 �

L) �����	�� V���	�� N--( � 6$��� <$&� [���� ������ ��R� 
��&�� ����	� ����� ����� 	�B�� ��
'���
���T��,���������
�0��
�8�
���
%0���%��&
���	
�>�4��	��
�������2�N--) �

LT �����	��9���	��'((( �-
�/�����4��R��������R�
����������������
����9��$���)�/���N4�R��
�����P����%��V�1���V�7������
�	���$��3	�������V�$5�0����������"��	���	��V�$5�0��
�@	����	�������	��	
��"�'+�����	
�-�	��2�'((( �

L* �����	������������'((( ���������	
���
����������������
����	��	����������T�����%9�0�?�
.��/	�����0���������2��:
/�L���� �+M�,�)M �

L+ �����	�."��V�$5	
��N-+( �-�����������������������R�
����������������
�����������������
��
	
���$�	
�9���������	�25���4���8���
�0
6��
%0�	��2�N-+(���� �N+-�Q�N-( �

L- �����	�."��V�$5	
��N-+L ���
�������������������������
��&������	��'���������������'B�
��������������+����7
���N^��B���������A�����_��P����
	
���
�	
����
�	�$�	
�
9���������	�25���4���8���
�0
6��
%0��&����
������ �N+)�,�N+T �

M( ���>	�� ���	�� N-++ � -����� �
� /����� ��R� 
��� ������� ����� �
���� -����� ������� ��
	
�
��$�	
�9���������	�25���4���8���
�0
6��
%0��&����
������ �N-)�,�N-T �

MN ���>	�� ��
� V������ N-+) � .$��� ������ =�M��� 	�
���� ��R� 
��� ������� ����� �
���� ������
���������
	
���$�	
�9���������	�25���4���8���
�0
6��
%0�	��2�N-+)���� �'M)�,�'MT �


